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1. The main interest for physiological psychologist is to study the ___ mechanism
of behavior.
(a) renal (b) cardiovascular (c) respiratory (d) brain

2. forebrain : hindbrain = :
(a) thalamus : cerebellum (b) basal ganglia : pons (c) hypothalamus : pons

(d) all above (e) none of above
3. When a drug becomes more and more effective'in the chronic use, which of
the following terms is associated to the phenomenon?

(a) withdrawal (b) sensitization (c) habituation (d) tolerance

4. Which of the following neurotransmitters is released in the neuromuscular

junction?

(a) serotonin (b) GABA (c) acetylcholine  (d) norepinephrine

5. The neurochemical condition of is most likely associated to the
schizophrenia.

(a) too much norepinephrine (b) short of norepinephrine

(c) too much dopamine (d) short of dopamine

6. The melatonin would be during the sleep as compared to the waking
state?.

(a) increased (b) decreased (c) nochange

7. Which of the followings could be the biological function of sleep
(a) energy reservation (b) body restoration (c) predator avoidance

(d) none of above (e) all of above

8. Which of the following nucleus being lesioned would impair the spatial
memory in the rat?
(a) striatum (b) amygdala (c) hippocampus (d) neocortex
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9. Which of the following emotional response in people is different between the
modern society and the isolated/non-literate group?
(a) happiness (b) fear (c) anger (d) disgust

10. When NMDA receptor activated by a large Ca++ influx, which of the following
protein kinases would be activated?
(a) CREB (b) CaMK i (c) PKC (d) all above
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1. neurotransmitter vs. neuropeptide

2. stress hormones

3. delay-non-matching-to-the-sample task
4. self-administration of drug
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